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£E 33,486 65,192 98,678 -4.2 5213 -1.7
1088 20,510 34,319 54,829 -2.5 6,039 -9.8
FL1R 608 1,595 2,203 -13.1 5,845 -0.1
113 459 1,107 1,566 13.4 4,324 -25.2
HIR 8,129 10,482 18,611 -45 7,093 -78
1k 1,384 2,796 4,180 -2.7 6,770 -8.8
2HE 2,143 2,990 5,133 -5.5 5,604 -8.8
R 1,052 2,906 3,958 3.2 5,070 -12.7
KBR 4,584 7,746 12,330 0.6 5,114 -13.9
R 618 1,679 2,297 0.0 6,172 -7.4
LE 715 1,501 2,216 -3.7 5,362 -5.2
& 818 1,517 2,335 -3.9 5,669 -10.4
1088 LU D 3R 12,976 30,873 43,849 -6.2 4,180 -4.6
tiEE 218 785 1,003 -1.9 3,420 -10.0
it 892 2,798 3,690 -11.7 2,748 -0.9
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£E 6,744,948 -1.1 7,627 -10.5 29.9 29.8 274
1088 3,273,536 -0.9 10,115 -11.3 30.0 29.9 95
FLIR 186,895 -4.3 6,890 -9.3 30.0 30.0
(1T 98,777 11.7 6,856 -24.0 30.0 30.0 3
HIR 972,052 -1.7 13,581 -10.4 30.0 29.5 28
1k 286,312 -5.5 9,884 -6.1 30.0 30.0 12
Z2HE 337,318 0.1 8,527 -13.8 30.0 30.0 8
R 217,197 1.1 9,239 -10.9 30.0 30.0 8
KB 627,081 0.5 10,054 -13.8 30.0 30.0 10
wE 174,373 0.0 8,130 -7.4 30.0 30.0 7
LE 241,754 0.0 4915 -8.7 30.0 30.0 8
& 131,777 -3.2 10,044 -11.1 30.0 30.0 4
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oS 232,350 36 5,264 -13.5 29.9 30.0 16
uE 168,119 -6.1 5,691 -10.6 30.0 30.0 6
L 545,758 -3.0 5,270 -6.4 29.8 30.0 20




